Joooobbgooooobuougoooon

b oboboobooboobo
20080 70O 160 DOODOO

0000000000000 0000O0000000DO0DoD0o0oo0oDOooDoooaoon
000000000000 bO00O0000DO0DO0DO0oO0oDO0oDOoDOO0ODbDOO NOD
0000000000000 0000000000000000000000O000000n
000000000 N-100000Db0DO0DO0OD00DO0ODO0OD0OD0O0ObOODbDOD
000000000000 0000ONODODODOO0OO0DOODOODOODOOOO0O0OOn
O0000000O0o0obD0bOo00bOo00bOoD0boOOobO0o0oDDObOOoDbDODbDODbODbOOD
000000000000 00000000000000000O000000000 KAM
00 Kolmogorov-Arnold-Moser(] 0 [0 00 Nekhoroshev O OO OO OO0OOO0OOOOOOO
000000000000 0000O000000D000D0DoD0ooO0ooooDoog

0000000000000 0DO0D0O00DO00DO000O00oDO0oooOoobOoOO0og
0000000000000 0000000000O00000DOD00oDo0ooooDoogon
O0000o0o0O00ooO0o0ooO0oooOob0obooOobObOOobbOOobOOobbOOobbODbDOoOD
OO00D00DOO0oooooogogd

n

000 G.D. BirkhoftOl H(q,p):H2+H3+...DH2:Z%
j=1

gboboboooobbbooobobiooddbaog,... o, OO0

(¢;+p}) 0 R"O00

(+) 0<) |kl<N (keZ) 000 ) ko;#0 ONODDOODOODO
j=1

j=1

00000000000000000000000000 00000
1
Hop(q,p) = h(7) + O(|g" ™ + [pI™),  7=(7,...,7), m=§ﬁ+ﬁ)
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